Efficiency vs Dxy(PV)

< 05

efficiency vs dxy(PV,
o o
S

o ¢
O N © w

5 10 15 20
TP dxy(PV) (cm)
T_I00UEVT

= DAV-original_1000evt —
—— DQM—fitted4_T000evt
—— Dt M_P:_noc ?(_11(3%)0&&[
[ Efficiend =— BOM i —cheOK-S0RTRz 1000evt
S 1.2_ T
a |
> r .
o Lm--n =
%) I .
> : .
3 ogF}
Q L N
L L .
RS TR L N T EETERRE
0.4F- {1
0.2Fff}
L
o+ .
T .
> ;
P s
°R)E-0.6-04 - 02 04 06 0.8
TP dxy(PV) (cm)
Efficiency vs Dz(PV)
S 0.8
o
§ 07
2
. 0.6
[3)
5]
3 0.5
= :
® 04 :
0.3
O RSP 1| R REEP Beeees
1 1 1 i
o
T
o
0.95! : . ; .
=30 -20 -10 10 20 30
TP dz(PV) (cm)
Efficiency vs Dz(PV)
S 0.5

©
S N

efficiency vs dz(P
o

0.15F+
0.F- oo
0.05

Ratio

© W
w0

o
© N
N o

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


